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log,128 = log,(27) =7

10%8% = 45
In(eb) = 6
. log; 3= =log,37% = -3

logsy/5 = log,512 =1

log 25 + log4 = log(25 - 4) = log 102 = 2

log,(16%) = log,(2*)* = log,2? = 92

logg6 — logg3 + log,2 = logy(§ - 2) = logg4 = log,8%% = 2
log(AB?C®) = log A + 2log B + 3log C
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=1 -~} =1 —1) = In(z2
In T 2ln( 3 1) 2[ln(av: 1) — In(z? + 1)]

log 21— 5a)” = log,z*(1 — 52)32 — log,\/ z(z? — 1)
s\ Vo os 5 5

= 2logz + 3 log, (1 — 5z) — 1 log,(z® — z)
log 6 + 4log2 = log 6 + log 2* = log(6 - 2*) = log 96
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: logy(z —y) — 2log,(z? +3?) = log,(z — y)*? — log,(z? + y)? = log, (-((2_'_—?/)2)2>

log(z — 2) + log(z + 2) — £ log(z® + 4) = log[(z — 2)(z + 2)] — logv/z? +

z2—4
log(—2 )
zé+4



